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Math Computation - Practice - 20 minutes - No calculator

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1.

10.

11.

12.

59x93=
a. 548.7

865+5=
a. 173

185.377 +45.863 =
a. 23124

17.436 - 17.149 =
a. 0317

11+4=
a. 2 Remainder 3

7243 + 9=
a. 84 Remainder 6

497 + 7=
a. 77

833+ 29=
a. 28 Remainder 21

b. 54.87

b. 1.73

b. 230.231

b. 0.313

b. 3 Remainder 2

b. 804 Remainder 7

b. 81

b. 30 Remainder 1
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13. -19-9=

a, -28 b. 9
14. 48+-3=

a. 16 b. -13
15, 31+ 14=

a. 45 b. 17
16. -19x-6=

a. 25 b. -114
17. 712x9=

a. 6,398 b. 6,408
18. 7419x5=

a. 35,045 b. 37,055
19. 51x67=

a, 673 b. 633
20. 721x38=

a. 27,398 b. 238,098
21. What percent of 150 is 120?

a. 75% b. 80%
22. 30% of =300

a. 270 b. 1,000
23. 35%0f120=

a. 54 b. 420
24. 400% of 55 =

a. 200 b. 22

114

6,498

35,055

3,667

28,931

30%

900

162

220

10

-16

-45

6,318

37,095

3,417

27,293

125%

90

42
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Math Computation - Practice - 20 minutes - No calculator
Answer Section

MULTIPLE CHOICE
I. ANS: B PTS: 1
2. ANS: B PTS: 1
3. ANS: A PTS: 1
4. ANS: D PTS: 1
5. ANS: A PTS: 1
6. ANS: B PTS: 1
7. ANS: C PTS: 1
8. ANS: A PTS: 1
9. ANS: C PTS: 1
10. ANS: C PTS: 1
11. ANS: B PTS: 1
12. ANS: D PTS: 1
13. ANS: A PTS: 1
14. ANS: D PTS: 1
15. ANS: C PTS: 1
16. ANS: C PTS: 1
17. ANS: B PTS: 1
18. ANS: D PTS: 1
19. ANS: D PTS: 1
20. ANS: A PTS: 1
21. ANS: B PTS: 1
22. ANS: B PTS: 1
23. ANS: D PTS: 1
24, ANS: C PTS: 1






